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Indefinite Integrals Ex 19.24 Q1

Let l= [;dx
1-cotx
_J 1
1- cgsx
sinx
iy sinx dx

Sinx — COSX

. d, . .
Let 5|nx=za(smx—cosx}+,u{smx—cosx)+ v

sinx = XG% (cosx +sinx) + u(sinx - cosx) +v

sinx = cos(R - ) +sinx (2 + x) +v

Comparing the coefficients of sinx & cosx on the both the sides,

A+ p=1 (1)
A-pu=1 ..{(2)
v=20 {3}

Equation (1),(2),(3) gives
1 1

A= 5)/“ = E;V =0
1 . 1,.
=(cosx +sinx) + = (sinx - cosx)
= ]2 - g ax
(sinx - cosx)
=l] ((:sz+sin,\/}ch'/+ 1’[5{\(
2 {sinx = cosx) 2

1 . 1
l= Elog|smx - cosx|+§x +C
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1

Let I=] ax
1-tanx
= j;dx
_sinx
COs X
y COs X s

COSX — Sinx
Let  cosx =i%[ccﬁx—5inx]+,u[n::n:15x—5inx]+y
= i%[— sinx - cosx)+ ufcosx —sinx)+v

cosx = sinx (-3 - ) +cosx (-2 +u)+w

Camparing the coeffidents of cosx & sinx on the both the sides,

“A-pu=0---=--- (1)
A+ p=1l--—---- (2)
p=0-—-—-----—- (3)
Equation [1], [:2] ,[3] gives
1 1
i——EJy—EJV—D

1 . 1 .
—E[— sihy - I:IIISX} +§[n::|:|sx - SIFIX]

I=] dx

[cosx - sinx)
i [Sinx + CDEX]

1
il —|d
7! g lax

[:I:I:ISX - Simr]

1 . 1
= ——IDg||:|:|5x - 5|r‘|x|+ Zx+C
2 o

1 1 )
I=Zx-Zloglcosy - sinx|+c
2 2
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I+2cosx + 4sing
- s
28Ny +Cosx + 3

Let 7=

Let 3+Z2 005K +4siny = Adi[z Sinx +cosx +3) + uf2 siny + cosx + 3] +v
I

3+2cosx +4sing = A[2cosx - sinx) + w(2siny +cosx +3)+ v

I+2005x +4sinx = (-2 +2u)sinx + (27 + m)oosx +3u+ v

Camparing the coefficients of sinx & cosx on the both the sides,

A+ 2u=d - - (1)
PR+ pu=2--—-——- (2)
2+ =3-——-—-—— - ——- {3]

Solving equation {1),(2) and {3}, we get
A=0,u=2,r=-3
B 2(2siny +cosx +3)-3

i= - o
[2 5|r'|x+|:|:|5x+3]
= 2[dx - 3[ — 1 oS
2Enx +COsx + 3
I=Cx -3 +0)------- [4)
1
Let Iy = :
2anx +Cosx + 3
2 tan 1-tan?Z
Put Sinx = ——2 _ [msx=—=_
1+ tan? 2 1+tan?2
2 2
1
=] ax
M X
2 tan = 1-tan® >
2 2 + 2 143
1+tan? 2 1+tan2X
2 P
{1+tan2%J
= i

4tani+1—tan2£+3 1+tar'|2£
2 2 2

X
et =
y 2 o
2tan2i+4tan%+4




Let  tans =¢
=

1
—sec? Al ot
2 2

2qr

24+ 4+ 4
dt

2t 2
at

It2+2t+1-1+2
it

[t+1]2+1

=1

2
7)

tan !t {r +1) + C3

s
tan? [tan £l + 1] + Oy

Mow, using equation (1,

I=2%-3tan ! {tan§+1]+c
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Let I= [;dx

p+gtanx

= I;dx

" SinXx
R4 COS X

cos
= | —
prosy +qgsiny

Let |::|:|5x=ii[p|:|:|5x +qsinx)+ufpoosy +gsiny)+v
(el

cosx = A[-psiny +qoosx)+ ufpcosx +gsinx)+ v

cosx = [-pA +qu)siny + (qd + pu)cosx +v

Camparing the coefficients of sinx, cosx on the both the sides,

o ls

—pA+qu=0---—-- (1)
A+ pu=1------- (2)
B e [3)
Solving equation (1), {2) and (3},
q
TN
[p*+’)
)
#: o . L) (———
(p?+a’)
v =0
M iy,
a [-p sinx +q cosx) o [pcosx +qsing)
L=l 2,52 COSX +qsiny o2 a? COSX +q siny
[p?+q?) P qsinx] [p?+a%) [ g sinx)
3 - 2
I=—T —floglpcosx +gsinx|)+ ———x +c
[.-'5'2""-?‘2){ } {'D2+q2)
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Lat I Scosx +6

= i ax
2Cosx +siny +3

Let  (Scosx +6)= i%[z COSx +5inx +3)+ u[2cosx +sinx +3) +v

[Scosx +6) = A [-2sinx +cosx )+ uf2cosx +sinx +3)+ v

[Scosx +6) = [-22 + w)sinx + (2 +2u) cosx + (Bu+v)

Camparing the coefficients of sinx and cosx on the both the sides,

“2l4pu=0------ (1)

A+2u=6-----—- 2)

Ju+r=6------- {3]
Solving equation (1),(2) and (3},

A=1

H=2

v=>0

B [—25|r'|x+c:|:|5x] i +2(dx

- (2 cosx + sinx +3)

I'=log|2cosx +siny +3|+2x +c
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2cinx +3osx
o ls

Let I=] -
Fsins +4cosx

. o . .
Let (2 sinx +3cosx) = A’.E[B Sinx +4cosx)+uf3sinyg +4cosx)+w

[2sinx +3cosx)=A{3c0sx - 4sinx)+ u(3sing + 4oosx)+v

[2sinx+3cosx)=[32+4u)cosx + (-4 +3u)sinx +v

Camparing the coefficients of sinx, cosx on the both the =sides,

B+ 4u=3------ (1)
4 43u=2 - - (2)
p=0-—--—-—- (3)
Solving the equation (1), {2} and (3],
IS
25

_18
T
v =0

1 [3cosx - 45inx}dx+ 18
F [Fsinx + 4cosx) o5

[

1 . 12
I= _—log|3siny +4cosx|+ —x +c
25 25
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1
I+ 4coty
_ _ SN K Ay
dsiny +4cosxy

Let 7=

. a . .
Let 5|r'|x=Ad—[BSmX+4cn5x]+y[35mx+4cu5x}+v
I

siny = A{3cosx - 4sinx )+ uf3siny +4sx)+ v

siny = {34+ 4u)cosx + (42 + 3u)siny +v

Camparing the coefficients of sinx and cosx on the both the sides,

3+ du=0------ (1)
4R +3u=1-———- (2)
p=0------- (3)
Solving the equation (1), {2} and {3), we get
PR
25
-2
# 25
¥ =10
4 [Fcosx - 4siny) 5

— _ + —|adx
25 [3sinx + 4cosx) 25

I= —ilug|35ir‘|x + 4|::|:|5x|+ix +e
25 25
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2tanx + 3

Jtanx + 4
25inx +3cosx

= : aw
Isiny + 4cosy

Let 7=

. o . .
Let 2sinx +3cosx = Ad—[SSmX +4oosx)+ uf3siny + 4cosx)+v
It

Zeiny +3cosx = A[3cosx - 4sinx) + uf3siny +4cosx) +v

Zeiny +3cosx = (34 + dujcosx + (-4 + 3u)sinx +v

Camparing the coefficients of sinx and cosx on the both the sides,

K=

Solving the equation {1),({2) and 3},

18
Y
izi
25
v =10
3cosy - 4dsinsy
R CL b + 18
25" (Isiny + 4cosx) 25
18 1 .
I=—x+—|n:ng|35mx+4|:|:|5x +C
25 25
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1
Let 7=

4+ 3 tanx
1o WSX g
4cosx + 35Ny
o . .
Let |:|:|5X=id—[4m5x+35|n;{]+y[4c05x +3sinx)+v
i

cosx = Af-4siny +3cosx )+ u(d4cosx + 3sinx)+ e

cosx = [-4d + 3u)sing + (32 + 4u) cosx + v

Camparing the coefficients of sinx and cosx on the both the sides,

44 +3pu=0----- (1)

M=l - (2)

p=0--—----- (3)

Solving the equation (1),{2) and (3},

]

25
-4

# 25

v =0

/- Ii[—45inx+3c!:5x]dx+ijdx
25 [4cosx + 3sinx) 2K

I= ilug|4c:uzx+35ir‘|x|+ gV
25 25
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m - Bl::n:utx+la.x
Jootxy + 2
Scosx +siny

Jcosx +2siny

Let  Scosx +siny =2 i[BEDSK +2sinx)+ u(3cosx +2sinx) + v
't

Beoosx +sinx = A (-3siny +2cosx)+ u(3cosx +2sinx)+w

Brosx +sinx = [-38 + 2u) sinxy + {24 + 3u) cosx + v

Camparing the coefficients of sinx and cosx on the both the sides,

PA+3u=8----- (1)
—AA+2u=1-————- (2)
v=0------- [:3:]

Solving equation {1},{2) and (3},
A=1
H=2
v =10
;- {—35|nx+2c05x]dX+EIdX

[3cosx + 2sing)

I=logf3cosx +2sinx|+2x +c
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dzinx +5cosy
s

Let I=|—
Eciny +4osy

Let 4sinx +Ecosx = j‘.di[E sinx +4cosx)+ ufSsiny + 4cosx)+v
I

4siny +5cosx = A [Scosx - 4sinx)+ u(Ssiny + 4cosx) +v

4sinx + 5cosy = (B2 + 4u)cosx + [-42 +5u)siny + v

Camparing the coefficients of sinx and cosx on the both the sides,

~4d +Bu=d4- - - —- (1)
Ei+d4u=5---——-- (2)
p=0------- (3)
Solving equation {1),{2) and (3},
P
41
_ 40
# 41
v =0
M o,
. ﬂ]dx+i] I:EE!IISX - 4sinx)
41 41" [5sinx + 4cosx)
I= ﬂx +ih:|g|5 sinx +4cosx|+c

41 41





